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1) ab(4a — 3b) + 5a(a — ab — b*) = —a?b — 8ab® + 5a>
2) (222 + day — 2y23) = 20 = 2%y + 2+ 2y
3) (x4y)(r—2y)— (z+2y)(x—y—1)= 2zy+2x+2y

(1)
(2)
(3)
(4) (p+ag+Dp+1)—(p+1)*=pg+g
(5)
(6)
(7)

5 {z—(w+DHae+2) 2@ —y)(y+1) =232y +2y> —2 -2
6) 3v3—-v12=13
7) (V2+V3)(V3—-v6) =3-3v2-2V3+6
2v/3 _ 2V3+3V6
(8) ﬁ+ﬁ_ 6
) V3 1+f —6 —3v2+4v3 + 46
22+ V3 o V2 10
(10) VB L V2 VBHVE 646v2+42V3+46
22+ v3  1+vZ 3 30

2. MOFHEZ LRI\,
(1) (4a — 3)ab® — a(ab — b?) — 2a%b(b — 1) = 2a%b? + a?b — 2ab?

(2) (32%y + 4a2y3) ~ 2%y = 4y*> + 3

B) (x+y)?—ax—y—-1)—yRr+1)=ay+y’+z—y

4) pta+Dp—-a)—(+dpP-—qg+1)=-2q

(5) 2z —y)(@+2) —2z{(z — 1)2 — (z + 1)2} = 1022 — yz + 42 — 2y

(6) V2-3V3—V8=—-v2-3V3

(7) V3(V6—2v2) = vV2(vV3-V6) =3v2+ 23 -3V6

2\f

® 375 T—W NG
©) V3 1+V2  6+43V2+2V3+2V6
2v2 " V23 4
V3 . V12 V3-v2 —5v2+5V6
NG T v v S v Sk S R
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3. MODEHHEZ La T\,

1) 2%(4y — 3) + 5(2? — yx — ya?) = —2y + 222 — Say
2

2) (2%y — 52’y + 42y°%2?) + yx = 42zy — 4x
(

3) (x4y)? — (x—y)* =4xy

5 pla—1)p+2) —{2(p—q9)* - (p+1)} =p*¢ —3p* +6pg — 2¢> —p+ 1
6) V3 — (V2 —2V12 —V18) =22+ 53

7) (V24+1)2(V3-v2) = -4-3V2+3V3+2V6

V5 V2 —2V6+3V10

1)
(2)
(3)
(4) (a+b+c)(a+b) — (a+c)b+ (a—b)e=a*+ ab+ 2ca+ b* — be
()
(6)
(7

(®)

V2 V3 6

(©) V2 x—ﬁxf—zx/??:_ﬁ
V2-2V3 V3 V6 3

(10) V21 . V3 . V3 21-14v2+8V5-6V10
VE+HV2 T V2-1 7 VB2 9

4. MOEHEZ Lg T,

(1) (a®> —ab+b*) —ala +b) + bla —b) = —ab

(2) (622 4 12243 — 3ya®) + 322 = 4z2y3 — 2y + 2
3) (z—y+1)2 =222y +2x+1y>—-2y+1

(4) p(p+29) —2q(q — 2p) +2(p + q)*> = 3p® + 10pg

(5) 2{z —2(y + 2)}(x +y) — 2(z —y)(y + z) = —4a? — bzy — 2y°
(6) V24— Bb4=—-6
(7) V2(V2+1)2=4+3V2

(8) 2\/§+3\/§+3@=3\/§+?

V3
| 1+vE 43— 36

V3+1 o V2 3+V3
7 “TivaT vz Y2

(10)

Ver1.0.1 17 Copyright(c) 2017 &% Z 54 All Rights Reserved.



A (%)

5. IRDFHEZ LRI,
(1) (ab— 3b%)a + b(2a* — 3ab + b2) = 3a®b — 6ab® + b*
(2) (2% + day® + 2% — 292%2%) + % = —22% + 2% + 4oy + 2y
(3) —(z—y)(x+2y) +a(z—y) — (v —2y)° = —2° + 22y — 2y°
(4) 2p+q+2)(-p+2)—(g—p)p+1)=—p* —2pg+3p+q+4
(5) {z— (y —2)Hx+2) — 2(x + 3y)(2y — 2) = 22 — bay + 42z — 12y% + 5yz + 22
(6) —2v12 - 2v2(V3 - V6) = —2V/6
(7) V3(V2—V3)(V6—V3)=6-3v2+3V3-3V6

—3v2 V2 —9VI0+2V30

25 V15 30

V3-Vv2 1-V3 3+V3
V2-V3 T V3 2

V241 2V3+1  6++/3

6. RDEHHEZ LaZ W,

(®)

(9)

(10)

(1) (4a® — 3ab+ 2b*) + a(a — b) — 3b(a + b) = 5a® — Tab — b*
(2) (x4 2y)(zy — 2y2®) + xy = —22% —day + 2z + 2y
(3) (x—y)?+(z+y)* — (v +2y)(z - 2y) = 2® + 6y?

(4) (p+2)(p+1)*=p° +4p* +5p +2

G) {fz—(y-DHz+2@y -1} =2 +ay —2y° —z + 4y — 2
(6) V2(V3-v2-1)-v24=-2-v2-6

(1) (V2+v3)? = (V2 -V3)* =46

3 \/3—1 —2v/3 +3V6
O ExvET v T s

VE+V3  VEH+V2 —4v/6 + 215

O ST =3 VIl ——

(10) 2\/§+\f 2 3+V3 2  —6+v2+6V3-3V6
Va-1 1+v3 V2 Biv2 4
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7. ROEHEZ La T,

(1) (a®>—a—=b—=0*)+(a—b+1)a+bb+a+1)=2a°

x+y—1

2 + (2y = 32?) =2t + 23y — a3

3) 2z +y)(2x —y) — (22 +y)? = —day — 22

(2) 2
(3)
4) ptag+r)p—r)=W@+r)p—71)=pa—qr

(5) (z —y)(x +2y) 2z +y) — 2(2* — y*)(x +y) = 2y — 2y
(6) vV6— (V12— V18)v3=—6+4V6

(M) A+V2+V3)(V3-1)=2-VvV2+6

-1 V2 V2-V3
NCEEN: G NaY: S LA
V2-1 _ 14+4V2 143
1-v3 3+2V2 2
2-V3  24+V3 1+3V3 V3

00) A R s =

8. MDFFEZ LI\,

(®)

9) -

(1) (4ab— 3b%) +ab(a — 1 —b?) — b{b — (ab® — a)} = a®b + 2ab — 4b*

(2) wng;TyI x 3(y* + xy?) = xy + y?
(B) —(z—y)*—(y—2)° + (2 —2)* = 22y — 2z — 2y + 2y
@) plp+)p—-1)=(p+1)p*=-p*—p
(5) (+2)?—2{(z(z—1) -2z +1)} = —22+ 102 + 8
(6) V2 —V3(V12—6) = —6+4v2
(7) V3(V/3=V6) — (V24 1) = 52
f f+14

(8) 2(vV2+1) x 73 ,\/ V6

1-v3 1+v2 f V2
(9) Y- A _1_\/§_G+7_2\/§+\/6

1 ‘ﬁfl 3+2v2  41v3+429v6
Vo1 11ve B 3

(10)
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9. MDEHFHEZ LT\,

1) —b?(a — 3b) + ba(ab — b*) + b(b* — ab + a?) — (b*a — ba®) = Ta*b — 8ab® + 4b°

(1)
(2) 2z + 3y + 1) + (2zy + 3yz?) x 2zy® = 623y3 + 92%y? + 32%y?
(3) 2z +y)(B3z —y) — (z+2y)(z — y) = ba? + ¢

(4) (a+Dpg+1) —(p+1)(¢* +p)+ (p+a)(1 - 2p) = =3p> —pg — ¢* +2¢ + 1
(5) {22 =2+ 1) + 22} - 2% - D)(2?+1) = —2* — 422 + 6

(6) V2(1+v2—-V3) = V32+v2—-V3)=5+v2-2V/3-2V6

(1) A+V3)2-V2) +(V3+V2)(V2-2V3)=-2-v2+2/3-2/6

2 23, V3 -
(8) N ISR AV el —V2+2V3 -6

V3 1+2V2
9) (2ﬂ+1)xf+1 NP _—6\f+ \/

V2 V243 V3-V2 72—6f+24\/§—6\/€
2o+l 143 2 23

10. IROFEZ LRI,

(10) 3

(1) ac(—c —b) + 3alab — bc — b?) — cb(b — ¢ + a) + 2¢2(b — a) = 3a®b — 3ab® — 3c®a — Sabe — b?c + 3bc?

B(42 4 9pn — 22 2.9 .9 9
@) z°(x® 4 2z2 — 2°) ><6$ y 3xy z +ﬂ = 52322 4 52223 — 15224 + 525
3y z 522

) (z+y+)(z—y—-1)—(z+y+ 1)1 —2—y) =222+ 22y — 2y — 2
2p—q)p—q+1)—2(p—q)(qg+1)p— (¢ —2)(¢ —p) — pa(2q — 3p) = p*q + ¢

(3)
(4)
(5) {22 - y+ Do +1) —2(x —y){y — 2z + 1)} = 622 — 8xy + 29> + 5z — 6y — 1
(6)
(7

6) V3(V3—-V12) = -
7) (1-v3)(2V3—V5) = —6+2V3-5+V15
1 V2+V3  9v2+48V3
(8) ﬁ+ﬁ+ NIRRT
) —V3  1+V3 V341 12+3V2+8V3+2V6
Vars Ve Va1 7
V3 V3+V2
(10) 2\@(3+\/6)><\/§+f 5 = —36+ 18v6
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